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1 #BiEXR
(1) mA

(BAZ: T - %)
K il IE BT O A ML #H IR %R 7t 1 AR L
1| Bl 21,479,977 37.6 21,479,977  37.6
2 5 o 5 179,000 0.3 179,000 0.3
SR | S b 34,000 0.1 34,000 0.1
4 % B x fF & 178,000 0.3 178,000 0.3
5 [BRASFREIE PS5 22 4+ 4 99,000 0.2 99,000 0.2
615 N+ % B2 A& 42,000 0.1 42,000 0.1
T 7 BB R A & 2,629,000 4.6 2,629,000 4.6
8 | IRk A B BRI s & 7 0.0 7 0.0
9 L o =R [ S o 41,000 0.1 41,000 0.1
1004 5 ¢ # &2 AT & 55,000 0.1 55,000 0.1
1 5 & B 50,000 0.1 50,000 0.1
12| A8 22 Ak SR R Bl A A+ 4 8,000 0.0 8,000 0.0
13|77 & k & #H & 329,353 0.6 329,353 0.6
14168 M B & O F B 930,108 1.6 930,108 1.6
15 E X W & 20,998,904  36.8 14,621 21,013,525  36.7
16|40 X H & 7,275,144  12.7 14,686 7,289,830 12.7
174 JE I A 22,848 0.0 22,848 0.0
18|% 75} 4 12,923 0.0 12,923 0.0
19|k A & 1,078,187 1.9 60,000 1,138,187 2.0
20| #ék 61 & 400,000 0.7 400,000 0.7
21|7 I A 211,402 0.4 8,280 219,682 0.4
22| & 1,045,500 1.8 1,045,500 1.8
& 7 57,099,353| 100.0 97,587 57,196,940| 100.0
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(B2 : T-H - %)

K il IE BT O A ML # IR %R 7t 1 AR L
1 [#% = # 374,504 0.7 374,504 0.6
2 [#& % # 4,010,156 7.0 6,659 4,016,815 7.0
3|’ A 2 34,963,003  61.2 36,435 34,999,438|  61.2
4 |f# A 2 3,733,571 6.5 42,090 3,775,661 6.6
5% 18 # 14,364 0.0 14,364 0.0
6= H K E ¥ E 35,418 0.1 35,418 0.1
7 |pE T 2 451,790 0.8 2,400 454,190 0.8
8 |+ N 2 4,585,221 8.0 4,585,221 8.0
9 ¥4 il 2 1,516,976 2.6 4,421 1,521,397 2.7
10|# G 2y 4,961,836 8.7 9,133 4,970,969 8.7
11|14 f& # 2,312,974 4.1 2,312,974 4.0
127 X iy & 30,336 0.1 30,336 0.1
13|77 fisi % 109,204 0.2 A 3,551 105,653 0.2
= 7t 57,099,353| 100.0 97,587 57,196,940| 100.0

(3) med (EE R
(BAZ: T %)
ES oo il IE BT O %A ML #H IR %R 7t 1 AR L
#|A (G # 6,785,908 11.9 3,975 6,789,883 11.9
‘;’9;' 7S BY) 2 25,903,549|  45.4 15,345 25,918,894  45.3
o | & b 2,312,974 4.0 2,312,974 4.0
# /I £t 35,002,431  61.3 19,320 35,021,751  61.2
W (G # 8,572,008| 15.0 34,447 8,606,455|  15.0
S S T (| I - I ¢ 220,012 0.4 1,787 221,799 0.4
fifi iy # & 4,833,132 8.4 41,701 4,874,833 8.5
& VA & 211,882 0.4 211,882 0.4
EELXOHES - B4 201 0.0 201 0.0
s t 4 4,265,358 7.5 4,265,358 7.5
B o&8 M B & 3,885,125 6.8 3,883 3,889,008 6.8
¥ fisi 2y 109,204 0.2 A 3,551 105,653 0.2
& 7 57,099,353| 100.0 97,587 57,196,940| 100.0
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